FEK#h R (BdKth4) RIGHEREBEBELZEE (M%)
HKEHH B{ el SF4E4A268 | SF4E5H31 8| SM4E6H21 8| SM4ETH268 | SF4E8H8H | SFN448H308 | SFN4E 108258 | 4411 A 158 | HH4411H298 | FFI54E1 248 | SH5E28 148 | SH55E2H288
EKEZ = E) 10:40 10:55 10:30 10:45 11:05 10:25 10:30 10:50 11:05 10:30 11:10 10:33
KB °C =18 16.4 20.0 220 245 24.9 25.7 225 19.6 17.9 9.9 10.7 11.5
— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0
N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR
BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001 <0.001 <0.001 <0.001
T AEMAXVRE | Al oo <0.001 <0.001 <0.001 <0.001
e mg/L 0.6 0.07 0.09 0.09 0.05
SO0 meg/L|  0.02 <0.002 <0.002 <0.002 <0.002
sonfkiLL meg/L|  0.06 0.008 0.010 0.015 0.008
CHOOEEE me/L|  0.03 0.004 0.003 0.004 0.006
oJOE/O00A2>  |me/L 0.1 0.003 0.003 0.003 0.003
REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001
U= meg/L 0.1 0.018 0.021 0.028 0.018
) OOEEE: mg/L|  0.03 0.008 0.008 0.011 0.007
JOES/O00X%Y |mg/L|  0.03 0.007 0.008 0.010 0.007
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 0.003 0.002 0.003 0.002
FHEIRBRUVZDIEESY [me/L 1 0.005 <0.004 0.007 0.007
4@17':’%"%—'7/"&”%0) me/l| 02 0.007 0.007 0.012 0.011
HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01
BHRUVZDIEEY mg/L 1 0.008 0.017 0.011 0.013
RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001
BitmA4> mg/L 200 12 12 12 12 12 14 14 14 14 14 13 13
AREZREY mg/L 500 86 92 91 80
I AIY ng/L 10 2 2 2 <1 1 2 4 A
2-AFIILAYRILAF—IL [ng/L 10 {1 4 {1 < {1 1 2 2
ﬁféc)%agg)ﬁ EEs meg/L 3 0.8 0.8 0.8 0.8 0.8 0.8 0.9 1.0 1.0 1.0 1.0 10
pHIE — | 5.8~86 7.1 7.0 7.1 6.9 6.9 6.9 7.1 7.6 7.2 7.4 7.6 7.4
R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BREA4L| BER4L] 2Eial] EEal] mwal] ®Bxal| Bgal| BEwal
BER — [Bgonunce| BEgal| BEggl| BEEgl] Beggl| BRE4gL| BERalL] 2Eial] =mEal] mEal] =mxal| Bgal| BEwal
BE E 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
oooao7tb=K)JL |mg/L|  0.01 0.001 0.001 0.002 0.001
k05— mg/L|  0.02 0.003 0.002 0.003 0.002
& TR BIER mg/L| 0.1l E 0.6 0.6 0.6 0.6 0.5 0.5 0.5 05 0.5 0.6 0.6 0.5
e SHE B ot meg/L 20 9 13 7 6
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
e o . . —I*ETE‘_.‘J{:‘&
BERMEGUTITER)| — pslgﬁgnouhﬁ -1.6 -1.7 -1.2 -1.3
i)
REXEHE fB/m| 2000 0 1 0 0
z TILHUE mg/L — 37 40 33 35
D ERmERE 1S/om — 128 129 130 136 138 142 131 131 132 132 133 134
mﬁ)lx)f?A»fT*z mg/L — 15 16 15 16
LNRBRIEE260) | — — 0.010 0.008 0.010 0.010 0.011 0.011 0.010 0.011 0.013 0.011 0.012 0.011




